maach math
Name:

Place Value: Combining Tens and Ones

Directions: Complete the chart below. The first example is already completed for you.

98 - 9 tens and 8 ones
= 7 tens and 2 ones
= 4 tens and 9 ones
= 6 tens and 0 ones
= 7 tens and 1 ones
= 0 tens and 8 ones

= 8 tens and 9 ones

5 tens and 3 ones
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ANSWER KEY

98 - 9 tens and 8 ones
12 = 7 tens and 2 ones
45 = 4 tens and 5 ones
60 = 6 tens and 0 ones
71 = 7 tens and 1 ones

8 = 0 tens and 8 ones
89 = 8 tens and 9 ones
53 = 5 tens and 3 ones
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